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y = 5.000 x + 60.000 
R² = 0.903 
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variables coefficients

Intercept 60.0000 

Population (x) 5.0000 
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ANOVA table

Source SS

Regression 14,200.0000 

Residual 1,530.0000 

Total 15,730.0000 

Pasted from <file:///C:\DOCUME~1\parlar\LOCALS~1\Temp\Harveys.xls> 

   Q600-C02 Page 3    

file:///C:/DOCUME~1/parlar/LOCALS~1/Temp/Harveys.xls


Std. Error 13.829 
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Regression output

variables coefficients std. error

Intercept 60.0000 9.2260 

Population (x) 5.0000 0.5803 
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Regression output confidence interval

variables coefficients std. error t (df=8) p-value 95% lower 95% upper

Intercept 60.0000 9.2260 6.503 .0002 38.7247 81.2753 

Population (x) 5.0000 0.5803 8.617 2.55E-05 3.6619 6.3381 

Pasted from <file:///C:\DOCUME~1\parlar\LOCALS~1\Temp\Harveys.xls> 

   Q600-C02 Page 5    

file:///C:/DOCUME~1/parlar/LOCALS~1/Temp/Harveys.xls
file:///C:/DOCUME~1/parlar/LOCALS~1/Temp/Harveys.xls


r² 0.903 
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ANOVA table

Source SS

Regression 14,200.0000 

Residual 1,530.0000 

Total 15,730.0000 
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Regression Analysis

r² 0.903 

r 0.950 
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ANOVA table

Source SS df MS F p-value

Regression 14,200.0000 1 14,200.0000 74.25 2.55E-05

Residual 1,530.0000 8 191.2500 

Total 15,730.0000 9 
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y = 0.093 x + 55.346 
R² = 0.692 
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